Chem 1054 Exam 1. Jordan, Fall 2006

)
Name Ke 4
By submitting this gxam, I affirm that | have neither given nor received unauthorized aid
on this assignment.

You must show all work for credit. Express each answer to the correct number of signifi-
cant figures.

Useful information: 1 in = 2.54 cm, 1 kg =2.200 Ibs, 1m = 1.0936 yds, K = °C + 273,

°F:§(°C)+32 °C=§(°F—32)

, , 1 gal=3.7854 L
(1) (2 points) How many micrograms (ug) are in a gram?
a. 0.001
b. 100
C. 1000
d. 1,000,000

(2) (2 points) Which of the following is a base unit?

a. gram

b. liter

C. second
d. e~

(3) (2 ijnts)—Ihe_m\ws_iin the periodic table are called

a. peri(ji;)
\b.\ ~~~~~~~~~~ densities:

C. groups
d. classes



(4)(3 points) Mercury has a density of 13 g/mL. What is the volume of 50.0 g of mer-

cury? 50 ) 3 /ml

T /3/ 5w/ } WL{

(5) (2 points) A student measured the diameter of a sphere and determined the aver-
age value. His measurements are 2.50 cm, 6.92 cm, 6.08 cm, and 7.50 cm. If the true
diameter is 5.80 cm, what can be said about the student's results?

a. They are accurate and precise.
_b._Theyare accurate but not precise?

C. They are precise but not accurate.

d. They are neither precise nor accurate.

(6) (4 points) Write the name of the elements next to their chemical symbol below.

@ B fopoa

(b) CI <hlorac

(c) O Jkyyph

) P /‘05/‘0(!4{

(7)(4 points) List the answers to the following problems to the correct number of signifi-

(3.4545 + 0. _
(a) 15.2331 /g 233/




(7)(4 points) List the answers to the following problems to the correct number of signifi-
cant figures

36aB ]
e

(b) (54.2+244)x(0.16-25.2) = éq@ 1) X ( -1 S@U/ |

(8)(2 points) Label each property below as a physical or chemical property.
(a) it burns in oxygen c)x@rmu)&
(b) itrusts }Km’ﬂdwf
N i
(c) it is shiny //@5;@
(d) it conducts electricity /"4/5//4/{

(9) (2 points)List two extensive properties.
fhass
;/0;477%

(10)(7 points) List the seven base Sl units and the property each one represents.



(11) What work did Lavoisier and Proust do that contributed to Dalton’s atomic theory?
(tell me what they did and how that fits into Dalton’s atomic theory)

LMO\s,e/f Come v/ »\;17‘7'7 7%8 ZW/C Conserva’ ‘tf /{/mgiz///;/b -,75 Z)gﬂ/a “w/

bj M [7[ R PP”MWQJI
/”angf (e L{, (,\,H//é %é Za/d’((m;@/?% Cﬁwiﬂcs /L
pheoh 13 @W/W 57 Lot 3

(12) (12 points) Perform the following conversions. Express the answer in correct sci-
entific notation.

(a) 25.0L into nL VEY S ;/Z

A50L ek e
=7 1o

(b) 15 gal into L

losd 3764 sy 751 574
I

Jo0m
(c) 65 yards into km / LV" /

éi”{x S 50494 3@5

/o?géyf

Sint fon /G55 ko |

(d) 2.55 m/s into km/hr [} < 3¢20s r;/___é )
L5540 //<»m _ 55 ) SEXID. 3% R
A9 x Tt < ] S5x )07 2550 S 1187

5



/0007 < /Aj

(e) 35.54 Ibs to grams

5.5l Tk -
’ YL fel5Y

bk, 0% ] Ll
5 pA/to mA / /‘7/
sk o sah, e Sy
| ph

(13)(8 points) Fill in the blanks in the foIIowmg table for neutral atoms

¥ ¢ 14 14 /
196( /7 8 17

(14) (2 points) Who is credited with discovering
(a) the electron

S Thorypse

(b) the nucleus

@na;%/@%!ﬁzé/c/



Extra Credit: (4 points) Billy wanted to bake some brownies while on vacation in France
with some mix he brought from the US. The box said to bake the brownies at 350° for
20 minutes. After 10 minutes at 350 °, smoke began pouring out of the oven. Why
(show numbers for full credit)?
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